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HPTEH—TH 724 363 361 257|[fsr E—T B 1,073 543 530 452
HEEH-TH 494 242 252 172 E=TH 1,329 679 650 492
HPTEH=TH 542 252 290 206l E=TH 720 359 361 259
HPTEHETH 459 225 234 156|#A4 £ T B 600 311 289 254
HPEHATH 520 254 266 207l ERTH 1,068 521 547 397
HPTEHNTHE 1,054 511 543 389|[iar EART B 753 379 374 249
HPTEHLTH 815 400 415 209lisr EETH 702 344 358 237
HPTEEH/NTHE 796 384 412 289 ARy E—TH 688 345 343 266
NI 315 175 140 5| AR E=TE 411 212 199 146
Ehe 239 136 103 ARy E=TH 744 355 389 282
TRETE 67 41 26 19| ARy EMT B 1,361 695 666 449
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5% N 1,494 732 762 426||#HET £ T B 610 306 304 237
PNt 1515 762 753 497\ ERT B 1,016 500 516 386
iR 1,477 797 680 512MaTa—TE 777 382 395 319
pNIIEi:: 130 62 68 36| iARTE=TH 706 351 355 284
KA 562 271 291 1491ABTE=TH 778 388 390 312
Y=Ed 1,119 547 572 337||MraTEmT B 714 368 346 269
OMLE—TH 889 469 420 363|MATARTE 991 500 491 338
OMNLE-TH 1,870 947 923 735|[fARTE AT B 705 341 364 232
UOMLEB=TH 1,239 672 567 461|MBTEETE 1,117 549 568 363
£E—-TH 471 234 237 153|=pma—T 8B 626 318 308 236
XE=TH 477 247 230 156|=pma =T H 992 516 476 323
£E=TH 582 301 281 216|=mA=TH 656 331 325 230
Z£EMTH 499 248 251 174|Z=pmEamTH 877 401 476 301
£ERTH 317 163 154 O|ZEEETH 724 349 375 241
ht—TH 969 503 466 390|EEa AT B 528 275 253 230
st = TH 290 141 149 124|=mma+TH 724 387 337 302
R =TH 477 260 217 238|& &t 63,005 31,832 31,173 23,325
T H 232 134 98 161 ®EAD
NI 1,375 690 685 520 #iA IR
BAYE—TE 659 341 318 241 A0 13 A
BAYEZTH 2041 1024 1,017 792 (5 -3 A
BAYE=TH 2253 1,133 1,120 868 [ % 10 A)
AHT 6,703 3440 3263 2,657 T —4 fiE
HoEa—TH 480 257 223 220
ToE8=TH 1,217 609 608 465
(FoxLMTH 756 365 391 209|| ER-TRERBEATRIZET
HREAATH 560 299 261 258
[FREAATH 709 374 335 272




